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KEY ANSWERS FOR OBJECTIVES

1. Put a Tick (3) mark against the correct answer in the
brackets provided : 1×15=15

(a) (iii) corporation   (  )

(b) (i) Widening income inequality   (  )

(c) (i) Working conditions   (  )

(d) (iv) International business   (  )

(e) (ii) Mundell-Fleming model   (  )

(f) (iii) Grant loans in every field   (  )

(g) (ii) intergovernmental   (  )

(h) (iv) North American Free Trade
Agreement   (  )
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(i) (iv) All of the above   (  )

(j) (ii) centralization   (  )

(k) (i) Geographic (area) division
structure   (  )

(l) (iv) Infrastructure   (  )

(m) (iii) Term loans   (  )

(n) (ii) Letter of credit   (  )

(o) (i) April 2000   (  )
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